DIREERFHEIDE (=)

AR 1 = RASE | XILEBE | 251 % 5
4] 9 % (300,000 x 104 43) 3,000,000 0 3,000,000
4| 28| EHHERE | VU THRILE — A4 1008 2,080 2,997,920
5| 21| BHBAL |l X ERIE | BIRA 8,349 2,989,571
5( 21| EHEBAL |[RTMMEEE BN 37,508 2,952,063
5 28| BHERE |12 7h—R)vS 4 4,344 2,947,719
5| 28| EHERME |BRIA KR 10ff 2,600 2,945,119
6| 30| BHIMERE |2 — %R A4 155 2,078 2,943,041
6| 30| BHHERE [V A ILRNRE—FE#HH 32,180 2,910,861
8| 2|MAEHHEE|7/28 EEWES HEMHL 87,154 2,823,707
8| 24| EHBEAE |RITHHEENE 45814 2,777,893

JE— A A 158 A2 h— D

Tk
10| 8|&EHMEME |/ vy 149,800 2,619,465
10| 8|&EHERE|XHR E.EEI—F 1K 7,460 2,612,005
10[ 20| EHEBAE MM EXDEMRQ&AIBREK 22,264 2,589,741

759 T7AILAL 5Evh RT4vID
11[ 10| BEHERE |V 108, AT—T 3@, HUTHIL 9,948 2,579,793

S —A4 1008
11| 30| EHHERE |1 UL 3 2,814 2,576,979
12| 10| EHHERE |JE—F# A4 25 4,156 2,572,823
12[ 20| EHEBAE | BRI ERGEEIBRR 7,546 2,565,277
12| 20| EHEAE |[BRTHMMEEE BB 37,266 2,528,011
1] 18| EHHERE /Sy 115,900 2,412,111
1] 18| EEHMERE [/ Va2 B & (USB/ND) 1,600 2,410,511
1] 18| ERHERE [/ SV BR(TVR) 2,500 2,408,011
1| 18| EHEAE ([BR1TBANEBHER 3,179 2,404,832
2| 18| BHIERE | VT HRILE— A4 1008 1,040 2,403,792
3| 10| EHEBAE |[RTMMEEE B 30,134 2,373,658
3| 31 BERLAN 2,373,658 0

3,000,000 3,000,000 0




